
FIND THE OPPOSITE

Big Small
….

Heavy Thin Old Young

Fast Slow Tall Short
Strong Weak

Start  



The dog is big.              
It can’t pass.

Now, it is small.                           
It can pass.

Next 
level

young thin slowsmall



young big strongfast

The car is slow.              
It can’t pass.

Now, it is fast.                           
It can pass.

Next 
level



slow big oldstrong

The dog is weak.              
It can’t pass.

Now, it is strong.                           
It can pass.

Next 
level



big strongthin young

The dog is heavy.              
It can’t pass.
Now, it is thin .                           

It can pass.

Next 
level



small weaktallold

The dog is short.              
It can’t reach the bone.

Now, it is tall .                           
It can reach.

Next 
level



youngthinheavyshort

The horse is old.              
It can’t run.

Now, it is young .                           
It can run.
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